4 5 Sti1 ffness

ahd

1. For arod, we have stiffness and flexibility matrices,

[<]= ji iq’[F}:%{ji 1}’
For abeam, we have stiffness and flexibility matrices,
(12 6 -12 6 2 1 -2 1
6 4 -6 2 111 38 -1 -37

K=l 1 6 12 6/l 2 1 2 1)
| 6 2 -6 4 1 -37 -1 38

We have employed pseudo-inverse or truncated SV D technique to determine the
inverse of asingular matrix. Now we will propose another method.

Ut =Ta,
T doesnot exist.
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2. Solve the Laplace problem with the following boundary conditions.
(& u(0)=100, t(0)=0,
(b) u(0)=100, t(1)=0,
(¢) u(0)=100, t(2) =100.
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